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Part-5

int main(int , Char ** ) {

int n = atoi(argv[1]);

for (int 1 = 1; i <= n; i++) {
star(i);

pid_t pid = fork();

if (pid > 0) {
waitpid(pid, NULL, ©);

star(i);

exit (EXIT_SUCCESS);

How many lines are in the stdout outputs
when running with arguments 1, 2 or 3?



Part-5

int main(int argc, char **argv) {

-

int n = atoi(argv[1]);

for (int 1 = 1; i <= n; i++) {

star(i);

pid t pid = fork();

if (pid » @) { // Parent
waitpid(pid, NULL, ©);
star(i);
exit (EXIT_SUCCESS);

}

}

S ./starfork-s5

n=1 =1
|
stdout

2>/dev/null



int main(int argc,

-

Part-5

int n = atoi(argv[1]);

for (int 1 = 1; i <= n; i++) {

star(i);

pid t pid = fork();

if (pid » @) { // Parent
waitpid(pid, NULL, ©);
star(i);
exit (EXIT_SUCCESS);

}

}

S ./starfork-s5

char **ar'gv) { ]

stdout

*

2>/dev/null



Part-5

int main(int argc, char **argv) {

-

int n = atoi(argv[1]);

for (int i = 1; i <= n; i++) {
star(i);
pid t pid = fork();
if (pid » @) { // Parent
waitpid(pid, NULL, ©);
star(i);

exit (EXIT_SUCCESS);

n=1

S ./starfork-s5

stdout

*

2>/dev/null



Pa rt - 5 $ ./starfork-s5  2>/dev/null

n=1 =1 *
int main(int , char ** ) | WEEERE
int n = atoi(argv[1]);
for (int i = 1; i <= n; i++) {
star(i);
pid _t pid = fork();
—p> if (pid » @) { // Parent
=l waitpid(pid, NULL, ©);
star(i); stdout
exit (EXIT_SUCCESS); *
}
}
}




Pa rt - 5 $ ./starfork-s5  2>/dev/null

n=1 i=1
int main(int » Char ** ) { nEmEEE
int n = atoi(argv[1]);
i=2
—> for (int 1 = 1; i <= n; i++) {
star(i);
pid _t pid = fork();
if (pid > @) { // Parent
P waitpid(pid, NULL, ©);
star(i); stdout
exit (EXIT_SUCCESS); *
}
}
}




Part-5

int main(int , char ** ) {

int n = atoi(argv[1]);

for (int i = 1; i <= n; i++) {

star(i);

pid t pid = fork();

if (pid » @) { // Parent
P waitpid(pid, NULL, ©);
star(i);

exit (EXIT_SUCCESS);

S ./starfork-s5

stdout

*

2>/dev/nuli




Pa rt - 5 $ ./starfork-s5  2>/dev/null

int main(int , char ** ) {

int n = atoi(argv[1]);

for (int i = 1; i <= n; i++) {
star(i);
pid_t pid = fork();
if (pid » @) { // Parent
waitpid(pid, NULL, ©);

=l star(i); stdout
exit (EXIT_SUCCESS); o
} E 3
}
}




Pa rt- 5 $ ./starfork-s5  2>/dev/null

n=2 i=1
int main(int argc, char **argy) {

int n = atoi(argv[1]);

for (int 1 = 1; 1 <= n; i++) {

=l

star(i);

pid t pid = fork();

if (pid » @) { // Parent
waitpid(pid, NULL, ©);
star(i); stdout
exit (EXIT_SUCCESS);

}

}
}




Pa rt- 5 $ ./starfork-s5  2>/dev/null

n=2 =1 *
int main(int argc, char **argy) { ———— s

int n = atoi(argv[1]);

for (int 1 = 1; 1 <= n; i++) {

_» star(i);

pid t pid = fork();

if (pid » @) { // Parent
waitpid(pid, NULL, ©);
star(i); stdout
exit (EXIT_SUCCESS); -

}

}
}




Pa rt- 5 $ ./starfork-s5  2>/dev/null

n=2 i=1 *

int main(int argc, char **argv) {
int n = atoi(argv[l]); ;

for (int i = 1; i <= n; i++) {
star(i);
pid t pid = fork();
: if (pid » @) { // Parent

waitpid(pid, NULL, ©);

star(i); stdout

exit (EXIT_SUCCESS); "




Pa rt - 5 $ ./starfork-s5  2>/dev/null

n=2 =1 *
int main(int , char ** ) | WEERESE
int n = atoi(argv[1]);
for (int i = 1; i <= n; i++) {
star(i);
pid _t pid = fork();
= if (pid » @) { // Parent
=l waitpid(pid, NULL, 0);
star(i); stdout
exit (EXIT_SUCCESS); .
}
}
}




Pa rt - 5 $ ./starfork-s5  2>/dev/null

int main(int , char ** ) {

int n = atoi(argv[1]);

mp for (int i = 1; i <= n; i++) {
star(i);
pid t pid = fork();
if (pid » @) { // Parent

> waitpid(pid, NULL, ©);
star(i); stdout
exit (EXIT_SUCCESS); .
}
}
}




Pa rt - 5 $ ./starfork-s5  2>/dev/null

int main(int , char ** ) {

int n = atoi(argv[1]);

for (int 1 = 1; 1 <= n; i++) {

_> star(i);
pid t pid = fork();
if (pid » @) { // Parent
> waitpid(pid, NULL, ©);
star(i); stdout
exit (EXIT_SUCCESS); .
} s sk
}
}




Pa rt- 5 $ ./starfork-s5  2>/dev/null

int main(int argc, char **argv) {

int n = atoi(argv[1]);

for (int 1 = 1; i <= n; i++) {

star(i);

: pid t pid = fork();

if (pid » @) { // Parent

> waitpid(pid, NULL, ©);
star(i); stdout
exit (EXIT_SUCCESS); -
} %k %k
}
}




Part-5

int main(int argc, char **argv) {

int n = atoi(argv[1]);

for (int i = 1; i <= n; i++) {
star(i);

pid_t pid = fork();

-> if (pid » @) { // Parent
t waitpid(pid, NULL, 0);
star(i);

exit (EXIT_SUCCESS);
}
}

S ./starfork-s5

stdout

*

* %

2>/dev/null




Pa rt- 5 $ ./starfork-s5  2>/dev/null

int main(int argc, char **argv) {

int n = atoi(argv[1]);

=) for (int 1 = 1; 1 <= n; i++) {
star(i);
pid t pid = fork();
if (pid » @) { // Parent

t waitpid(pid, NULL, 0);
star(i); stdout
exit (EXIT_SUCCESS); .
} %k %k
}
}




Part-5

int main(int argc, char **argv) {

int n = atoi(argv[1]);

for (int i = 1; i <= n; i++) {

star(i);

pid_t pid = fork();

if (pid » @) { // Parent
t waitpid(pid, NULL, 0);
star(i);

exit (EXIT_SUCCESS);

S ./starfork-s5

stdout

*

* %

2>/dev/null




Pa rt- 5 $ ./starfork-s5  2>/dev/null

int main(int argc, char **argv) {

int n = atoi(argv[1]);

for (int 1 = 1; i <= n; i++) {

star(i);
pid t pid = fork();
if (pid » @) { // Parent

> waitpid(pid, NULL, ©);
; star(i); stdout
exit (EXIT_SUCCESS); -
} %k %k
%k %k
}
}




Part-5

int main(int argc, char **argv) {

int n = atoi(argv[1]);

for (int 1 = 1; i <= n; i++) {
star(i);
pid t pid = fork();

if (pid » @) { // Parent
waitpid(pid, NULL, ©);
star(i);

exit (EXIT_SUCCESS);

EPA

S ./starfork-s5 2>/dev/null

I
[HEY
*

lllllllllllllllllllllllA

stdout

*
* %

* Xk




Part-5

int main(int , char ** ) {

int n = atoi(argv[1]);

for (int i = 1; i <= n; i++) {
star(i);
pid t pid = fork();
if (pid » @) { // Parent
waitpid(pid, NULL, ©);

—p star(i);

exit (EXIT_SUCCESS);

EPA

S .[starfork-s5 2>/dev/null

1 * *
......................H

stdout

*
* %

* Xk

*




Pa rt- 5 $ ./starfork-s5  2>/dev/null

n=3 i=1
int main(int argc, char **argy) {

int n = atoi(argv[1]);

for (int 1 = 1; 1 <= n; i++) {

=l

star(i);

pid t pid = fork();

if (pid » @) { // Parent
waitpid(pid, NULL, ©);
star(i); stdout
exit (EXIT_SUCCESS);

}

}
}




Pa rt- 5 $ ./starfork-s5  2>/dev/null

n=3 =1 *
int main(int argc, char **argy) { ——

int n = atoi(argv[1]);

for (int 1 = 1; 1 <= n; i++) {

_» star(i);

pid t pid = fork();

if (pid » @) { // Parent
waitpid(pid, NULL, ©);
star(i); stdout
exit (EXIT_SUCCESS); -

}

}
}




Pa rt- 5 $ ./starfork-s5  2>/dev/null

n=3 i=1 ¥

int main(int argc, char **argv) {
int n = atoi(argv[l]); ;

for (int i = 1; i <= n; i++) {
star(i);
pid t pid = fork();
: if (pid » @) { // Parent

waitpid(pid, NULL, ©);

star(i); stdout

exit (EXIT_SUCCESS); "




Pa rt - 5 $ ./starfork-s5  2>/dev/null

n=3 =1 *
int main(int , char ** ) | WEERESE
int n = atoi(argv[1]);
for (int i = 1; i <= n; i++) {
star(i);
pid _t pid = fork();
= if (pid » @) { // Parent
=l waitpid(pid, NULL, 0);
star(i); stdout
exit (EXIT_SUCCESS); .
}
}
}




Pa rt - 5 $ ./starfork-s5  2>/dev/null

int main(int , char ** ) {

int n = atoi(argv[1]);

mp for (int i = 1; i <= n; i++) {
star(i);
pid t pid = fork();
if (pid » @) { // Parent

> waitpid(pid, NULL, ©);
star(i); stdout
exit (EXIT_SUCCESS); .
}
}
}




Pa rt - 5 $ ./starfork-s5  2>/dev/null

int main(int , char ** ) {

int n = atoi(argv[1]);

for (int 1 = 1; 1 <= n; i++) {

_> star(i);
pid t pid = fork();
if (pid » @) { // Parent
> waitpid(pid, NULL, ©);
star(i); stdout
exit (EXIT_SUCCESS); .
} s sk
}
}




Pa rt- 5 $ ./starfork-s5  2>/dev/null

int main(int argc, char **argv) {

int n = atoi(argv[1]);

for (int 1 = 1; i <= n; i++) {

star(i);

: pid t pid = fork();

if (pid » @) { // Parent

> waitpid(pid, NULL, ©);
star(i); stdout
exit (EXIT_SUCCESS); -
} %k %k
}
}




Part-5

int main(int argc, char **argv) {

int n = atoi(argv[1]);

for (int i = 1; i <= n; i++) {
star(i);

pid_t pid = fork();

-> if (pid » @) { // Parent
t waitpid(pid, NULL, 0);
star(i);

exit (EXIT_SUCCESS);
}
}

S ./starfork-s5

stdout

*

* %

2>/dev/null




Pa rt- 5 $ ./starfork-s5  2>/dev/null

int main(int argc, char **argv) {

int n = atoi(argv[1]);

=) for (int 1 = 1; 1 <= n; i++) {
star(i);
pid t pid = fork();
if (pid » @) { // Parent

t waitpid(pid, NULL, 0);
star(i); stdout
exit (EXIT_SUCCESS); .
} %k %k
}
}




Pa rt- 5 $ ./starfork-s5  2>/dev/null

int main(int argc, char **argv) {

int n = atoi(argv[1]);

for (int 1 = 1; i <= n; i++) {

= star(i);

pid _t pid = fork();

if (pid » @) { // Parent

t waitpid(pid, NULL, 0);
star(i); stdout
exit (EXIT_SUCCESS); .
} %k %k
%k %k k
}
}




Pa rt- 5 $ ./starfork-s5  2>/dev/null

int main(int argc, char **argv) {

int n = atoi(argv[1]);

for (int 1 = 1; i <= n; i++) {
star(i);

: pid _t pid = fork();

if (pid » @) { // Parent

t waitpid(pid, NULL, 0);
star(i); stdout
exit (EXIT_SUCCESS); .
} %k %k
%k %k k
}
}




Pa rt- 5 $ ./starfork-s5  2>/dev/null

int main(int argc, char **argv) {

int n = atoi(argv[1]);

=P for (int i = 1; i <= n; i++) {
star(i);

pid _t pid = fork();

if (pid > @) { // Parent

; waitpid(pid, NULL, 0);
star(i); stdout
exit (EXIT_SUCCESS); .
} %k 3k
%k %k k
}
}




Part-5

int main(int argc, char **argv) {

int n = atoi(argv[1]);

for (int i = 1; i <= n; i++) {

star(i);

pid t pid = fork();

if (pid > @) { // Parent
; waitpid(pid, NULL, 0);
star(i);

exit (EXIT_SUCCESS);

S ./starfork-s5

stdout

*
* %k
* %k 3k

2>/dev/null




Pa rt- 5 $ ./starfork-s5  2>/dev/null

Il
=
*

n=3 [

int main(int argc, char **argv) {

int n = atoi(argv[1]);

llllllllllllllllllllA

for (int 1 = 1; i <= n; i++) {
star(i);
pid t pid = fork();
if (pid > @) { // Parent

t waitpid(pid, NULL, 0);
star(i); stdout
exit (EXIT_SUCCESS); -

} %k %k
%k k k
} % % %
}




Part-5

int main(int argc, char **argv) {

int n = atoi(argv[1]);

for (int i = 1; i <= n; i++) {

star(i);

pid t pid = fork();

if (pid > @) { // Parent
> waitpid(pid, NULL, ©);
star(i);

exit (EXIT_SUCCESS);

n=3

S ./starfork-s5

stdout

*

* %k
* %k Xk
* %k Xk
* %k

2>/dev/null

* %



Pa rt- 5 $ ./starfork-s5  2>/dev/null

Il
=
*

n=3 [

EEEEEE NN E N EE N EE N EEEEEEEENEEEEEEEENDNEN
/

-
4

* {
llllllllllllllllllllq
/

int main(int argc, char **argv) {

int n = atoi(argv[1]);

for (int i = 1; i <= n; i++) {
star(i);
pid_t pid = fork();
if (pid » @) { // Parent

> waitpid(pid, NULL, ©);
star(i); stdout

' exit(EXIT_SUCCESS); -

} E 3 3
k %k k
} % % %

£33

}




Pa rt- 5 $ ./starfork-s5  2>/dev/null

n=3 i=1 * *
.................................h

-
4

* {
IIIIIIIIIIIIIIIIIIIIH
/

int main(int argc, char **argv) {

int n = atoi(argv[l]); 5) * %

for (int i = 1; i <= n; i++) {
star(i);
pid t pid = fork();
if (pid » @) { // Parent
waitpid(pid, NULL, ©);

star(i); stdout

exit (EXIT_SUCCESS);

*

} * %
* %k Xk
} * %k Xk
* %




Part-6

int main(int , Char ** ) {

int n = atoi(argv[1]);

for (int i = 1; i <= n; i++) {
star(i); int execv (const char *path, char *const argv[]);
e Execute a file/program
sleep(1l);

char *a[] = { argv[@], argv[1l], NULL };
execv(*a, a);
printf("%s\n", "A STAR IS BORN");

exit (EXIT_SUCCESS);

} What is the output when running with arguments 1, 2 or 3?
Is “A STAR IS BORN” ever printed?
Are any new processes ever created?



ax2155@ap:~/recitations/recitation_7/code$ ./starfork-s6 1
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A



P art - 6 $ ./starfork-s6

int main(int argc, char **argv) {

int n = atoi(argv[1]);

mp for (int i = 1; i <= n; i++) {
star(i);
sleep(1);
char *a[] = { argv[0], argv[1l], NULL };

execv(*a, a);

printf("%s\n", "A STAR IS BORN"); stdout

exit (EXIT_SUCCESS);




P art - 6 $ ./starfork-s6

int main(int argc, char **argv) {

-

int n = atoi(argv[1]);

for (int 1 = 1; i <= n; i++) {

star(i);
sleep(1l);
char *a[] = { argv[0], argv[1l], NULL };
execv(*a, a);
printf("%s\n", "A STAR IS BORN"); stdout
exit (EXIT_SUCCESS); *

}




P art - 6 $ ./starfork-s6

n=1 i=1 * i;
o o o |
int main(int , char *#* ) { "EE

int n = atoi(argv[1]);

for (int 1 = 1; 1 <= n; i++) {

star(i);

sleep(1l);

char *a[] = { argv[0], argv[1l], NULL };
=l execv(*a, a);

printf("%s\n", "A STAR IS BORN"); stdout
exit (EXIT_SUCCESS); *




Part-6

int main(int , char ** ) {

int n = atoi(argv[1]);

for (int 1 = 1; i <= n; i++) {

star(i);

sleep(1l);

char *a[] = { argv[@], argv[1l], NULL };
=l execv(*a, a);
printf("%s\n", "A STAR IS BORN");

exit (EXIT_SUCCESS);

int argc

char **argv

int n

int 1




Part-6

main

int main(int , char ** ) {

int n = atoi(argv[1]);
char **argv

for (int 1 = 1; i <= n; i++) {

star(i);

sleep(1l);

char *a[] = { argv[@], argv[1l], NULL };
=l execv(*a, a);
printf("%s\n", "A STAR IS BORN");

exit (EXIT_SUCCESS);




P art - 6 $ ./starfork-s6

n=1 i=1 * i;
o o o |
int main(int , char *#* ) { "EE

int n = atoi(argv[1]);

for (int 1 = 1; 1 <= n; i++) {

star(i);

sleep(1l);

char *a[] = { argv[0], argv[1l], NULL };
=l execv(*a, a);

printf("%s\n", "A STAR IS BORN"); stdout
exit (EXIT_SUCCESS); *




Part-6

int main(int , char ** ) {

—>

int n = atoi(argv[1]);

for (int 1 = 1; 1 <= n; i++) {
star(i);

sleep(1l);

S ./starfork-s6

char *a[] = { argv[@], argv[1l], NULL };

execv(*a, a);
printf("%s\n", "A STAR IS BORN");

exit (EXIT_SUCCESS);

S./starfork-s6 1

stdout

*




P art - 6 $ ./starfork-s6

n=1 i=1 =* n=1 =1 =*

int main(int , char ** ) { $./starfork-s6 1

int n = atoi(argv[1]);

for (int 1 = 1; i <= n; i++) {
star(i);
sleep(1l);
char *a[] = { argv[0], argv[1], NULL };

execv(*a, a);

printf("%s\n", "A STAR IS BORN"); stdout
exit (EXIT_SUCCESS); *

*




Part-7/

int main(int , Char ** ) { void star(int ) {
: . i if (numstar >= 100)
int n = atoi(argv[1l); exit(EXIT FAILURE);

for (int i = 1; i <= n; i++) {
star(n); }
pid_t pid = fork();
if (pid == @) { int sprintf(char *str, const char *format, ...);

char buf[100]; — Produce output according to a format

: and write to the character string str.
sprintf(buf, "%d", 2 * n);

char *a[] = { argv[O], buf, NULL };
execv(*a, a);

}

waitpid(pid, NULL, ©);

star(n); What is the output when running with arguments 2, 10 or 50?
exit (EXIT_SUCCESS);



Part-7/

int main(int argc, char **argv) {

—}intn

atoi(argv([1l]);

S ./starfork-s7

n=10

for (int i = 1; i <= n; i++) {

star(n);

pid t pid = fork();
if (pid == @) { // Child

char buf[100];
sprintf(buf, "%d", 2 * n);

2>/dev/null

char *a[] = { argv[@e], buf, NULL };
execv(*a, a);

}

waitpid(pid, NULL, ©); stdout

star(n);

exit (EXIT_SUCCESS);




Part-7/

int main(int argc, char **argv) {

int n = atoi(argv[1]);

for (int i = 1; i <= n; i++) {

_> star(n);

pid t pid = fork();

if (pid == 0) { // Child

char buf[1l00];
sprintf(buf, "%d",

char *a[] = { argv[O],

execv(*a, a);
}
waitpid(pid, NULL, ©);
star(n);

exit (EXIT_SUCCESS);

S ./starfork-s7

n=10 10x*

* n);

buf, NULL };

2>/dev/null

stdout

*khkkrkkkkhk*k




int main(int argc,

-

Part-7/

int n = atoi(argv[1]);

char **argv) {

S ./starfork-s7

n=10 10x*

for (int i = 1; i <= n; i++) { ;

star(n);

pid t pid = fork();

if (pid == 0) { // Child

char buf[1l00];
sprintf(buf, "%d",

char *a[] = { argv[O],

execv(*a, a);
}
waitpid(pid, NULL, ©);
star(n);

exit (EXIT_SUCCESS);

* n);

buf, NULL };

2>/dev/null

stdout

*khkkrkkkkhk*k




Part-7/

int main(int argc, char **argv) {

int n = atoi(argv[1]);

for (int 1 = 1; 1 <= n; i++) {

star(n);
pid_t pid = fork();

-> if (pid == @) { // Child
char buf[1l00];
sprintf(buf, "%d",
char *a[] = { argv[O],
execv(*a, a);

}

=l waitpid(pid, NULL, 0);

star(n);

exit (EXIT_SUCCESS);

S ./starfork-s7

n=10 10x*

* n);

buf, NULL };

2>/dev/null

stdout

*khkkrkkkkhk*k




P art - 7 $ ./starfork-s7 2>/dev/null

int main(int argc, char **argv) {

: . n=10 10x*
int n = atoi(argv[1]); EEEEmn
for (int i = 1; i <= n; i++) {
star(n); S./starfork-s7 20

pid t pid = fork();
if (pid == @) { // Child
char buf[100];
sprintf(buf, "%d", 2 * n);
char *a[] = { argv[@e], buf, NULL };

— > execv(*a, a);
}

> waitpid(pid, NULL, ©0); stdout
star(n); Kk kkhkrA kK

exit (EXIT_SUCCESS);




P art - 7 $ ./starfork-s7 2>/dev/null

int main(int argc, char **argv) {

= int n = atoi(argv[l]);

for (int i = 1; i <= n; i++) {

n=10 10x*

star(n); $./starfork-s7 20
pid t pid = fork();

if (pid == @) { // Child
char buf[100];
sprintf(buf, "%d", 2 * n);
char *a[] = { argv[@e], buf, NULL };

execv(*a, a);

}
> waitpid(pid, NULL, ©0); stdout
star(n); Kk kkhkrA kK

exit (EXIT_SUCCESS);




Part-7/

int main(int argc, char **argv) {

int n = atoi(argv[1]);

for (int 1 = 1; i <= n; i++) {

— > star(n);

pid_t pid = fork();

if (pid == @) { // Child
char buf[1l00];
sprintf(buf,
char *a[] = { argv[O],

execv(*a, a);
}
> waitpid(pid, NULL, 0);

star(n);

exit (EXIT_SUCCESS);

ll%dll, 2 *

S ./starfork-s7

n=10 10x*

S./starfork-s7 20

n);

buf,

NULL };

2>/dev/null

stdout

*khkkrkkkkhk*k
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Part-7/

int main(int argc, char **argv) {

int n = atoi(argv[1]);
for (int 1 = 1; i <= n; i++) {
star(n);

pid t pid = fork();

if (pid == @) { // Child

char buf[1l00];

— <

sprintf(buf,
char *a[] = { argv[O],
execv(*a, a);
}
> waitpid(pid, NULL, 0);

star(n);

exit (EXIT_SUCCESS);

ll%dll, 2 *

S ./starfork-s7

n=10 10x*

n);

buf, NULL };

S./starfork-s

2>/dev/null

stdout

*khkkrkkkkhk*k
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Part-7/

int main(int argc, char **argv) {

int n = atoi(argv[1]);

for (int i = 1; i <= n; i++) {

star(n);

pid t pid = fork();

if (pid == @) { // child
char buf[1l00];
sprintf(buf,
char *a[] = { argv[o],
execv(*a, a);

}

waitpid(pid, NULL, ©);

star(n);

exit (EXIT_SUCCESS);

ll%dll, 2 *

S ./starfork-s7

n=10 10x*

S./starfork-s

n);

buf, NULL };

2>/dev/null

stdout
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Part-7/

int main(int argc, char **argv) {

int n = atoi(argv[1]);
for (int 1 = 1; i <= n; i++) {
star(n);

pid t pid = fork();

if (pid == @) { // Child

char buf[100];

S ./starfork-s7

n=10 10x*

S./starfork-s

2>/dev/null

S./starfork-s7 40

sprintf(buf, "%d", 2 * n);
char *a[] = { argv[@], buf, NULL };
=l execv(*a, a);
}
t waitpid(pid, NULL, ©); stdout
star(n); kkkk ok ek ok ko

exit (EXIT_SUCCESS);
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Part-7/

int main(int argc, char **argv) {

== int n = atoi(argv[1l]);

for (int 1 = 1; 1 <= n; i++) {

star(n);

pid_t pid = fork();

if (pid == @) { // Child
char buf[1l00];
sprintf(buf,
char *a[] = { argv[O],

execv(*a, a);
}
t waitpid(pid, NULL, 0);

star(n);

exit (EXIT_SUCCESS);

ll%dll, 2 *

S ./starfork-s7

n=10 10x*

S./starfork-s

n);

buf, NULL };

2>/dev/null

n=40
S./starfork-s7 40

stdout

*khkkrkkkkhk*k
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P art - 7 $ ./starfork-s7 2>/dev/null

int main(int argc, char **argv) {
n=10 10x*

int n = atoi(argv[1]);
for (int i = 1; i <= n; i++) {

=> star(n); $./starfork-s
pid t pid = fork();

n=40 40x*
if (pid == @) { // Child $./starfork-s7 40

char buf[100];
sprintf(buf, "%d", 2 * n);
char *a[] = { argv[0], buf, NULL };

execv(*a, a);

}
t waitpid(pid, NULL, 0); stdout
St ar ( n ) -; k*hkkkkikkkkkk
ex it ( E X I T S UC c E S S ) ; kkhkkkkkkkhkhkhkkkhkhkihkhkhkikkk
A TrA S 1A tA t) w w) ws s W) 9 S e S v @ v s s b g o o . o o w9 o W e W e w e e e 6
}




int main(int argc,

=

Part-7/

int n = atoi(argv[1]);

for (int 1 = 1; i <= n; i++) {

star(n);

pid t pid = fork();

if (pid == @) { // Child

char buf[1l00];
sprintf(buf, "%d",

char *a[] = { argv[O],

execv(*a, a);
}
waitpid(pid, NULL, ©);
star(n);

exit (EXIT_SUCCESS);

char **argv) {

S ./starfork-s7 2>/dev/null

n=10 10x*

S./starfork-s

* n);

buf, NULL };

stdout

*khkkrkkkkhk*k
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Part-7/

int main(int argc, char **argv) {

int n = atoi(argv[1]);

for (int 1 = 1; 1 <= n; i++) {

star(n);

pid_t pid = fork();

if (pid == @) { // Child

char buf[1l00];
sprintf(buf, "%d",

char *a[] = { argv[O],

execv(*a, a);
}
‘ waitpid(pid, NULL, ©0);
star(n);

exit (EXIT_SUCCESS);

S ./starfork-s7 2>/dev/null

n=10 10x*

S./starfork-s
n=40 40x*

40

* n);

buf, NULL };

stdout

*khkkrkkkkhk*k
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Part-7/

int main(int argc, char **argv) {

int n = atoi(argv[1]);

for (int 1 = 1; 1 <= n; i++) {

star(n);

pid_t pid = fork();

if (pid == @) { // Child

char buf[1l00];
sprintf(buf, "%d",

char *a[] = { argv[O],

execv(*a, a);
}
t waitpid(pid, NULL, ©0);
star(n);

exit (EXIT_SUCCESS);

S ./starfork-s7 2>/dev/null

n=10 10x*

S./starfork-s

n=40 40x*

40

S./starfork-s7 80
* n);

buf, NULL };

stdout

*khkkrkkkkhk*k
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Part-7/

int main(int argc, char **argv) {

=3 int n = atoi(argv[1l]);

for (int 1 = 1; 1 <= n; i++) {

star(n);

pid_t pid = fork();

if (pid == @) { // Child

char buf[1l00];
sprintf(buf, "%d",

char *a[] = { argv[O],

execv(*a, a);
}
t waitpid(pid, NULL, ©0);
star(n);

exit (EXIT_SUCCESS);

S ./starfork-s7 2>/dev/null

n=10 10x*

S./starfork-s
n=40 40x*

40
n=80

S./starfork-s7 80
* n);

buf, NULL };

stdout

*khkkrkkkkhk*k
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Part-7/

int main(int argc, char **argv) {

int n = atoi(argv[1]);

for (int 1 = 1; 1 <= n; i++) {

= star(n);

pid_t pid = fork();

if (pid == @) { // Child

char buf[1l00];
sprintf(buf, "%d",

char *a[] = { argv[O],

execv(*a, a);
}
t waitpid(pid, NULL, ©0);
star(n);

exit (EXIT_SUCCESS);

S ./starfork-s7 2>/dev/null

n=10 10x*

S./starfork-s
n=40 40x*
S./starfor

40
n=80 80x*

S./starfork-s7 80

2 * n);

buf, NULL };

stdout

*khkkrkkkkhk*k
KKKKKA A A A Ak kkhkh)h)%5%%
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Pa rt- 7 $ ./starfork-s7 2>/dev/null

int main(int argc, char **argv) {
n=10 10x*

int n = atoi(argv[1]);
for (int i = 1; i <= n; i++) {

SERF0) £ S./starfork-s
: pid_t pid = fork(); n=40 40x*
if (pid == @) { // Child $./starfor

40
n=80 80x*

S./starfork-s7 80

char buf[1l00];

sprintf(buf, "%d", 2 * n);
char *a[] = { argv[0], buf, NULL };

execv(*a, a);

}
t waitpid(pid, NULL, 0); stdout
St ar ( n ) -; k*hkkkkikkkkkk
exit ( EXIT_SUCCESS ) ; kkhkkkkkkkhkhkhkkkhkhkihkhkhkikkk
A TrA S 1A tA t) w w) ws s W) 9 S e S v @ v s s b g o o . o o w9 o W e W e w e e e 6
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Pa rt- 7 $ ./starfork-s7 2>/dev/null

int main(int argc, char **argv) {
n=10 10x*

int n = atoi(argv[1]);
for (int i = 1; i <= n; i++) {

star(n); $./starfork-s
pid_t pid = fork(); n=40 40x*

if (pid == @) { // Child $./starfor

40
n=80 80x*

S./starfork-s

char buf[1l00];

80
sprintf(buf, "%d", 2 * n);

char *a[] = { argv[0], buf, NULL };

execv(*a, a);

}
‘ waitpid(pid, NULL, ©); stdout
St ar ( n ) -; k*hkkkkikkkkkk
exit ( EXIT_SUCCESS ) ; kAhkkkkhhkkhkhkkkhkkkkhhkkikk
A TrA S 1A tA t) w w) ws s W) 9 S e S v @ v s s b g o o . o o w9 o W e W e w e e e 6
} PR B 0 B D b . . ' W W, s w s W W W s W s s s v v S v s s S s A s s s s W W W . i s o o s e W W W W W v v S S S S S b S v b b b b b b b o o o o o o




Part-7/

int main(int argc, char **argv) {

int n = atoi(argv[1]);

for (int i = 1;

star(n);
pid_t pid = fork();
if (pid == @) { // Child

char buf[1l00];

i <= n; i++) {

S ./starfork-s7 2>/dev/null

n=10 10x*

S./starfork-s
n=40 40x*
S./starfor

40
n=80 80x*

S./starfork-s

80

sprintf(buf, "%d", 2 * n);
char *a[] = { argv[@], buf, NULL }; S./starfork-s7 160
- execv(*a, a);
}
t waitpid(pid, NULL, ©); stdout
star(n); kkkk ok ek ok ko

exit (EXIT_SUCCESS);

KKKKKA A A A Ak kkhkh)h)%5%%
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Part-7/

int main(int argc, char **argv) {

= int n =

for (int i = 1;

atoi(argv([1l]);

star(n);
pid_t pid = fork();
if (pid == @) { // Child

char buf[1l00];

i <= n; i++) {

S ./starfork-s7 2>/dev/null

n=10 10x*

S./starfork-s
n=40 40x*
S./starfor

40
n=80 80x*

S./starfork-s

80

sprintf(buf, "%d", 2 * n); n=160
char *a[] = { argv[@], buf, NULL }; S./starfork-s7 160
execv(*a, a);
}
t waitpid(pid, NULL, ©0); stdout
star(n); kkkk ok ek ok ko

exit (EXIT_SUCCESS);

KKKKKA A A A Ak kkhkh)h)%5%%
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Pa rt- 7 $ ./starfork-s7 2>/dev/null

int main(int argc, char **argv) {
n=10 10x*

int n = atoi(argv[1]);
for (int i = 1; i <= n; i++) {

=) star(n); $./starfork-s

n=40 40x*

40
n=80 80x*

S./starfork-s

ild

's 2 ¥ n);

vie], buf, NULL }; tarfork-s7 160

execv(*a, a);

}
t waitpid(pid, NULL, ©); stdout
St ar ( n ) -; k*hkkkkikkkkkk
exit ( EXIT_SUCCESS ) ; kAhkkkkhhkkhkhkkkhkkkkhhkkikk
A TrA S 1A tA t) w w) ws s W) 9 S e S v @ v s s b g o o . o o w9 o W e W e w e e e 6
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Pa rt- 7 $ ./starfork-s7 2>/dev/null

int main(int argc, char **argv) {
n=10 10x*

int n = atoi(argv[1]);
for (int i = 1; i <= n; i++) {

star(n); $./starfork-s

pid_t pid = fork(); n=40 40x*

40
n=80 80x*

S./starfork-s

if (pid == @) { // Child

char buf[1l00];

sprintf(buf, "%d", 2 * n);
char *a[] = { argv[@], buf, NULL }; tarfork-s7 160

execv(*a, a);

}

; waitpid(pid, NULL, ©); stdout

» star ( n ) 5 K,k khkrdrhhrdrhrhkrKx
exit(EXIT_SUCCESS); ok oo e o ke o ok e ek ok ek ok ok ok ok ok ok ok ok ok ke ko
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Part-7/

int main(int argc, char **argv) {

n=10 10x*

int n = atoi(a

for (int i = 1; i <= n;
star(n);

pid_t pid = fork();

if (pid == @) { // Child

char buf[1l00];
sprintf(buf, "%d",

char *a[] = { argv[O],

execv(*a, a);

}
waitpid(pid, NULL, ©);

w

star(n);

» exit (EXIT_SUCCESS);

S./starfork-s

2 * n);

S ./starfork-s7 2>/dev/null

n=40 40x*
E B EEEEEEEEEEEEEEEEETRE I}

S./starfor 40

30X,
" nu @
S./starfork-s/7 80 P

—

e

—

buf, NULL }; tarfork-s7 160

stdout

KKKKKAAA A K Ak khkhkh)h)k%5%%
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int

‘V

Part-7/

main(int argc,
n=10_10x*

int n = atoi(a

for (int i = 1; i <= n;

star(n);
pid_t pid = fork();
if (pid == @) { // Child

char **argv) {

S./starfork-s

S ./starfork-s7 2>/dev/null

40x*

LLEREEEREEEREEERNERY

40 -

n=40 40x*

/
*
char buf[1l00]; lllll&
. S./starfork-s7 80 -
sprintf(buf, "%d", 2 * n); ‘
char *a[] = { argv[e], buf, NULL }; $./starfork-s7 160
execv(*a, a);
}
waitpid(pid, NULL, ©); e

star(n);

exit (EXIT_SUCCESS);

AR S At A A A A A A A A A A A A A A A A A A A S S S S S S S At S S S S S S S

BB R R R R B P L R $L B 0L B B BL B B B 01 B4 B B B4 B4 BA PA PA B B4 B4 B4 0L B B B B4 B4 B4 B B4 B4 B4 A 4 4 A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A g
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Part-7/

int main(int argc, char **argv) {

n=10 10x*

int n = atoi(a
for (int i = 1;

star(n);

pid_t pid = fork();

if (pid == @) { // Child

char buf[1l00];
sprintf(buf, "%d",

char *a[] = { argv[O],

execv(*a, a);

}
waitpid(pid, NULL, ©);

\ 4

star(n);

exit (EXIT_SUCCESS);

2 * n);

S ./starfork-s7 2>/dev/null

i <= n; \++
’ )n={20 20x*

S./starfork-s

EEEEEEEEEEEEEEEEEENEEEEEEENEEENEEENEEEEEEENDR
/

7

—

/
|.ﬁOést
EEEEEEEEEEEEEEEEEEERN
40 -
30X,
llllll.ql’.:a‘{
S./starfork-s/7 80 P

n=40 40x*
S./starfor

—
—

buf, NULL }; $./starfork-s7 160

stdout

AR S At A A A A A A A A A A A A A A A A A A A S S S S S S S At S S S S S S S
BB R R R R B P L R $L B 0L B B BL B B B 01 B4 B B B4 B4 BA PA PA B B4 B4 B4 0L B B B B4 B4 B4 B B4 B4 B4 A 4 4 A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A g
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Part-7/

int main(int argc, char **argv) {

n=10 10x*

int n = atoi(a

for (int i = 1; i <= n;
star(n);

pid_t pid = fork();

if (pid == @) { // Child

char buf[1l00];
sprintf(buf, "%d",

char *a[] = { argv[0], buf, NULL };

execv(*a, a);
}
> waitpid(pid, NULL, ©0);
star(n);

exit (EXIT_SUCCESS);

S./starfork-s

2 * n);

S ./starfork-s7 2>/dev/null

’ﬁOx*
EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEETHE

7

—

n=40 40x*

/
|.ﬁOést
EEEEEEEEEEEEEEEEEEERN
S./starfor 40 P
30X,
lllllllql’.:;‘{
S./starfork-s/7 80 P

—
—

S./starfork-s7 160

stdout
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Part-7/

int main(int argc, char **argv) {

n=10 10x*

int n
for (int i = 1;

star(n);

pid_t pid = fork();

if (pid == @) { // Child

char buf[1l00];
sprintf(buf, "%d",

char *a[] = { argv[O],

execv(*a, a);

}

> waitpid(pid, NULL, ©0);
star(n);
' exit (EXIT_SUCCESS);

)I;llllllllllllllllllllllllllllllllllllllllllllllllllllA

<= n; i++
n=20 20x

S./starfork-s

2 * n);

S ./starfork-s7 2>/dev/null

/
-

/7

’zloé*f(
EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEN

>
E B EEEEEEEEEEEEEEEEERE
40
/
S0x™
IIIIIH

tarfork-s7 160

n=40 40x*
S./starfor

S./starfork-s

buf, NULL };

stdout
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P art - 7 $ ./starfork-s7 2>/dev/null

int main(int argc, char **argv) {

n=10 10x* *
int 1] ) )SIlllllllllllllllllllllllllllllIIIIIIIIIIIIIIIIIIIIIM
for (int 1 = 1; § <= n; i++) { ;7

n=20 20x &*’
star.n . I EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEETRm
o $./starfork-s .
pid_‘t pld = 'FOI“k()_; n=40 40x* 40 *I/
) . : IIIIIIIIIIIIIIIIIIIIA
if (pid == @) { // Child $./starfor 40 -
80X
char buf[1l00]; lIlllH
. S./starfork-s o
sprintf(buf, "%d", 2 * n); /
* — .
char *a[] = { argv[0@], buf, NULL }; & ¥ork-s7 160
execv(*a, a);
}
waitpid(pid, NULL, ©); stdout
» Star‘(n)-; RAT A B A B L S A S A S WA S WA W S 9 S S S S S 0 S WA S A S A 9 e 9 S 9 S S A S S S A 9 S S W A S g S e 9 S 9 S 9 S g S g WA 9 o o e 9 S i S o ¢
exit ( EXIT SUCC ESS) ; AL S S S L S A S A A o WA B WA S o S g S 9 A S o A o S A S e S b S e o e
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P art - 7 $ ./starfork-s7 2>/dev/null

n=10 * &
1OX .|l.|l.|l.|l.|l.|l.|l.|l.|..|l.|l.|l.|l.|l.|l.|l.|l.|l.|l.|l.|l.|l.|l.|..|l.|”"&£2:-a~:
n=20 20x* ,zoé*é
E B EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEETHN

S./starfork-s

n=40 40x*
S./starfor

>
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/
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S./starfork-s

stdout
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